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Select the correct alternative from each sub question 

1 The mean free path of molecule  distance travelled by the gas 

molecule in 5 successive collisions are 2µm,4 µm, 5 µm,3 µm,1 

µm is 

 a) 4 µm  b) 3 µm  c) 5 µm d) 2 µm 

2 The mean free path of a molecule is ….. 

 a) Directly proportional to diameter of the molecule   

 b) Directly proportional to square of diameter of the molecule   

 c)  inversely proportional to square of diameter of the molecule   

 d) inversely proportional to diameter of the molecule  

3 The transport phenomena occur only in the…... 

 a) non-equilibrium state of gas b) equilibrium state of gas 

 c) steady state of gas   d) All of these 

4 The coefficient of viscosity of a gas is independent of ……. 

 a) square root of its temperature b) mass of its molecule 

 c) diameter of its molecule  d) pressure of a gas at constant 

temperature 

5 The phenomena of presence of gas Ammonia when its container 

is opened in the room is called--- 

a) Diffraction    b) Interference   

c) polarization    d) Diffusion 



 

 

 

6 If c is rms velocity of a gas λ is mean free path of its molecules 

then the coefficient of diffusion of gas is  

 a) 
1

3
𝑐λρ     b) 

1

3
𝑐λ   

c) 
1

3
𝑚𝑛𝑐λ     d) 

1

3
𝑐λ2ρ 

7.  Viscosity of gas is due to transport of  

a) Mass  b) Momentum  c) Energy    d) None 

8. Out of the following which has the highest thermal conductivity  

at the same temperature? 

 a) Oxygen     b) Helium  

 c) carbon dioxide   d) hydrogen 

9. In diffusion transport of following occurs 

 a) Momentum     b) Energy 

 c) mass     d) None 

10. Thermal conductivity of gas is due to transport of  

  a) Momentum     b) Energy 

 c) mass     d) None 

11. An expression for coefficient of diffusion is  

 a) 𝐷 =
1

3
𝜌𝑐𝑐𝑣𝜆     b) 𝐷 =

1

3
𝜌𝑐𝜆 

 c) 𝐷 =
1

3
𝜌𝜆    d) 𝐷 =

1

3
𝑐𝜆 

12. Coefficient of viscosity of gas is directly proportional to 

 a) T   b) √T  c) T2   d) T3/2 



 

 

 

13 An expression for coefficient of viscosity is  

 a) 𝜂 =
1

3
𝜌𝑐𝑐𝑣𝜆     b) 𝜂 =

1

3
𝜌𝑐𝜆 

 c) 𝜂 =
1

3
𝜌𝜆    d) 𝜂 =

1

3
𝑐𝜆 

14. An expression for coefficient of thermal conductivity of gas is  

 a) 𝐾 =
1

3
𝜌𝑐𝑐𝑣𝜆     b) 𝐾 =

1

3
𝜌𝑐𝜆 

 c) 𝐾 =
1

3
𝜌𝜆    d) 𝐾 =

1

3
𝑐𝜆 

15. Relation between coefficient of viscosity and diffusion of gas is 

 a) 
𝜂

𝐷
= 𝑐𝑣  b) 

𝜂

𝐷
=

1

𝑐𝑣
  c) 

𝜂

𝐷
=

1

𝜌
  d) 

𝜂

𝐷
= 𝜌 

 



 

 

 



 

 

 

 

  

 


